
C>6(,:34D*BD3LIGNOMUVID2IUVIOOEQKEFIQ&HRGZ *.&(+&(/  )-0)* ;?=JJMGI ?IMVI ) XRQ )

3LIGNOMUVI 2IUVIOOEQKEFIQ J_T C>6(,:34 *B

4MUSOE[IMQUVIOOWQKIQ

?VEQHETH 9WQHIQYWQUGL

58< 58< 1A? 1Q\IMKI >EWPVIPSITEVWT

1A? 58< 1A? 1Q\IMKI ?ROOYITV @IPSITEVWT

12?=:A@ 12?=:A@ =66?5@ 1Q\IMKI ?ROOYITV @IPSITEVWT !QWT BITUMRQ!)" "

12?=:A@ 12?=:A@ =66?5@ 1Q\IMKI ?ROOVIPSITEVWT^QHITWQK !QWT BITUMRQ!)" "

]3 ]3 ]6 5MQLIMV @IPSITEVWTEQ\IMKI

1NVWEOMUMITWQKUMQVITXEOO 4MUSOE[

?ROOYITVIMQUVIOOWQK !RSVMRQEO$ QWT \WT BMUWEOMUMITWQK"  !C>6(,"

?VEQHETH 9WQHIQYWQUGL

2EUMUROOYITV #’% =JJUIV  !)" 2EUMUUROOYITV #’% =JJUIV  !*" 6IUVIT 2ITIMGL

 !)" 2EUMUUROOYITV #’% =JJUIV
 ?VEQHETH

 9WQHIQYWQUGL

 !*" 6IUVIT 2ITIMGL
 ?VEQHETH

 9WQHIQYWQUGL

?VEQHETH 9WQHIQYWQUGL
)(U

AQVITIT
BITUVIOOFITIMGL

2EUMUYITV
!QEGL >IUIV"

=FITIT
BITUVIOOFITIMGL

( ]3 ** ]3 ( ]3

;MQMPEOYITV
2EUMUYITV

!QEGL >IUIV" ;EZMPEOYITV

AQVITIT 7TIQ\YITV =FITIT 7TIQ\YITV

( ]3 -( ]3

AQVITIT 7TIQ\YITV =FITIT 7TIQ\YITV


